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A=RE-A—TOoHIGEY B=RK -JOv/HIEEE

NE iz K4 BEIRAUL | REERAUL | MRARAUF | R—FR
T | B 90.00 60.00 30.00
2 |{FEE —1E 50.95 27.50 23.45
3 | HULT 47.25 45.00 2.25
4 MR K 42.70 20.00 22.70
5 (AR FEAE 36.20 12.50 23.70
6 |Z=H {EF 33.57 27.50 6.07
T |BEM K 30.00 30.00
7 /AR E] 30.00 30.00
s |f'fE HL 27.20 12.50 14.70
10 | EAR =i 26.20 12.50 13.70
" 5K BEARF 25.72 17.50 8.22
12 |2 ZFE 22.00 22.00
13 |fvE S 16.00 16.00
13 |KP K5 16.00 16.00
15 |FRER ADA 12.75 9.00 3.75
6 |B¥E I 11.42 7.00 4.42
17 |fEs UxS 10.50 10.50
18 |[IMk BFH 10.42 8.00 2.42
19 |f#HL #EF0 9.87 3.80 6.07
20 | KR EA 9.65 5.20 4.45
21 3L & 9.45 9.45
21 |H IR 9.45 9.45
23 |RE E=E 7.95 5.20 2.75
24 |INFK BEkSE 7.00 7.00
25 [;BF HE 6.87 6.87
26 |/NE FE 6.40 6.40
27 |thH #TY 6.35 3.10 3.25
28 | EH M= 6.10 6.10
28 |FIF EE 6.10 6.10
28 |=miE EE 6.10 6.10
31 |EA J\if 5.94 5.20 0.74
32 |BHEEE E2F 557 557
33 |HE tiE 5.30 5.30
3 | KJTF ZEF 4.90 4.90
35  |[IUA #k 4.85 3.80 1.05
36 |hniE IZAR 4.62 4.62
37 | BH EBF 4.46 2.80 1.66
38 |FH FHF 445 4.45
39 |#EH 3.40 3.40
90 |FHk EE 3.37 3.37
41 |BRIR B 3.06 3.06
42  |hnpkE = 3.00 3.00
43 |AII =3 2.70 2.70
43 (A PN 2.70 2.70
45 |FTFE BHE 2.54 2.54
46 |ZEHE EFEMW 2.42 2.42
41 |EEH BE 2.30 2.30
48 |HEKR BHF 2.16 2.16
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NE iz K4 BEIRAUL | REERAUL | MRARAUF | R—FR
49 BB EX 2.10 2.10
49 |HLE #HIK 2.10 2.10
51 |2l EfE 2.00 2.00
52 | Rl FEER 1.95 1.95
53 |#AK HEER 1.90 1.90
54 |fHER ZE(K 1.80 1.80
5 |=F $E3E 1.80 1.80
56 |BHE AAY 1.77 1.77
57 |fa Rk EIF 1.60 1.60
57 (A Z& 1.60 1.60
50 |EWL E 1.50 1.50
50 [FFEE & 1.50 1.50
61 |HEF & 1.40 1.40
61 |FH ELRE 1.40 1.40
63 |Z&PH HE 1.25 1.25
63 |[TH HhA 1.25 1.25
65 |IBSH B3R 1.10 1.10
66 | H #hik 0.97 0.97
67 |[/INFE BRE 0.95 0.95
68 |BR HBEF 0.94 0.94
69 [{EEF =L 0.91 0.91
69 [/MIE EFE 0.91 0.91
71 |EHLAHH 0.88 0.88
72 |fRlEE FE 0.86 0.86
73 | KF B 0.85 0.85
13 |BEK F&F 0.85 0.85
75 |l IBtF 0.83 0.83
76 |H5H FE 0.78 0.78
77 AR #2TH 0.70 0.70
77 AR ZFETh 0.70 0.70
79 |EBF pE 0.67 0.67
80 |luO IME 0.65 0.65
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